Kakue 13 gaHHbIX ypaBHeHUN 3a4al0T U3BeCTHble BaM PYHKLUNN?

y = kx + m; y = X%

y =-5+ 2x; X2 +y2=0;
7y = X; x¢—y =0;
ax + by + ¢ =0; 6=YVy-—X;
X = y?; 0

4x + 2y = 0;

[ +x—8y=0;

y = - X2




YcTtaHOBUTe cooTBeTCTBME Mexay dopmMyrnoun u
rpacomkomMm pyHKUUMN.

fpaguk | ¢4 | 2 | 3| 4| 5|6 |7 |89
Popmyna 6




PewunTe ypaBHeHue.

a)2x + 11 =0; -95,5

6) m? = 16; -4; 4

B) c® + ¢ = 0; 0; -1

r)9 + y? =0; KOpHEeW HeT
A) (5 - x)? = 0; >
e)x?+6x+9=0; -3

K) —x?>—x—1=0. ?
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JomawiHee 3agaHue: Ne 38.5 (a, 6), 38.9 — 38.11 (a)
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